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Combined instance -- Synthesis with respect to: Net logistics cost
[Selection of Logistics 5e > Coszt [L: .462] > Met logistics cost [L: 4]
Overall Inconsistency = .03
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Combined instance -- Synthesis with rezpect to: Credit term
[Selection of Logistics 5e > Cost [L: .462] > Credit term [L: .514]]
Owerall Inconsistency = .00
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Combined instance -- Spnthesis with rezpect to: On time delivery
[Selection of Logistics 5e > Delivery Reliability [L: > On time delivery [L: 544)
Owerall Inconsistency = .01
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Combined instance -- Synthesiz with rezpect to: No damaged goods while in transit
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Combined instance -- Synthesis with regpect to: Accuracy of documents
[Selection of Logistics Se » Delivery Rehability [L: » Accuracy of documents [L:]
Owerall Inconsiztency = .00
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Combined instance -- Spnthesis with respect to: Track and trace service offering
[Selection of Logistice 5e > Information Technology [L > Track and trace service o]
Owerall Inconsistency = .01
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Combined instance -- Synthesiz with respect to: Professional and fast iszue document
[Selection of Logistice 5e » Information Technology [L > Professional and fast isg)
Overall Inconzsistency = .00
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Combined instance -- Synthesis with respect to: Oversea network or branch
[Selection of Logistics Se » Financial Stability [L: . » Oversea network or branch]
Overall Inconzsistency = .01
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Combined instance -- Synthesis with respect to: Asset
[Selection of Logistics Se » Financial Stability [L: . » Asset [L: .266]]
Overall Inconziztency = .01
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Combined instance -- Synthesis with respect to: Yariety of services
[Selection of Logistics 5e > Responsiveness [L: .139] > Yarnety of services [L: ]
Owerall Inconzizstency = .00
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Combined instance -- Synthesiz with respect to: Exprezs delivery service offening
[Selection of Logistics 5e > Responziveness [L: _139) > Express delivery service]
Overall Inconzistency = .00
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Combined instance -- Synthesiz with respect to: Short transzit time
[Selection of Logistics 5e » Responsiveness [L: .139) > Short transit time [L: 3]
Overall Inconsistency = .01
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Combined instance -- Synthesiz with respect to: Staff willingnesz and expertize
[Selection of Logistics S5e > Responsiveness [L: .139) » 5taff willingness and exp)
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